
SAP ABAP table REBDC_MEAS_CALC {Derivable Measurement Type (TIVBDMEASCALC)}

REBDC_MEAS_CALC

MANDT [CLNT (3)]

MEASCALC [CHAR (4)]

USAGETYPE [NUMC (4)]

AOTYPE [CHAR (4)]

MEASSRC [CHAR (4)]

MEASCALCSRC [CHAR (4)]

T000

MANDT [CLNT (3)]

 REBDC_MEAS_CALC-MANDT = T000-MANDT 
0..N

1

TIV01

MANDT [CLNT (3)]

SNUNR [NUMC (4)]
 REBDC_MEAS_CALC-USAGETYPE = TIV01-SNUNR 

0..N

1

TIVBDAROBJTYPE

MANDT [CLNT (3)]

AOTYPE [CHAR (4)]

 REBDC_MEAS_CALC-AOTYPE = TIVBDAROBJTYPE-AOTYPE 
0..N{0,1}

TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 REBDC_MEAS_CALC-MEASCALC = TIVBDMEAS-MEAS 

0..N

1

 REBDC_MEAS_CALC-MEASCALCSRC = TIVBDMEAS-MEAS 

0..N

1

 REBDC_MEAS_CALC-MEASSRC = TIVBDMEAS-MEAS 0..N
1


